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120 ~ 130 6 - 184 509 693
130 ~ 140 5 - 107 582 689
140 ~ 150 3 - 34 568 602
150 ~ 160 6 - 9 602 611
160 ~ 200 5 - 300 589 889
st A 80 168 4,424 10,748 15,340

AE, 3, Fol, A%, YE 5¢ TFY 57

o Y= A4 557100 11472708 SIS LS 5%

- 57 60° - 80° WelA Colelo] F2 ALHW, 54 80° -
140° W 9loAE Kutlelo] A48 e Ao vepd



m
uls

ZAE A B AERR
= ° o| M H Z= 3} X S % C oS Ku L% St
2 | HE(CE) S Kok FHH v lage | v lage | v | ae St A
1 55.0 G-Sat 8 ol: 4 4
2 55.0 Yamal 402 2{ A| O} 33 28 61
3 56.0 Express AT1 2 A| O} 442 34 476
4 57.0 NSS 12 SEME=E3 68 64 31 11 174
5 58.5 KazSat 3 FIRFS AEL 338 338
6 60.0 Intelsat 33E 0| = 51 11 12 6 80
7 62.0 Intelsat 902 o= 255 29 110 76 470
8 64.2 Intelsat 906 0| = 30 0 30
9 65.0 Amos 4 o|Azt 183 183
10 66.0 Intelsat 17 0| = 196 23 21 240
11 68.5 Intelsat 20 0| = 305 34 514 61 914
12 70.5 Eutelsat 70B = 27 27
13 721 Intelsat 22 0| = 67 0 67
14 75.0 ABS 2 = 162 7 66 235
15 75.0 ABS 2A == 430 13 443
16 76.5 Apstar 7 == 130 5 232 3 370
17 78.5 Thaicom 5 Efj = 417 56 38 511
18 785 Thaicom 6 Efj = 165 2 93 2 262
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19 78.5 Thaicom 8 Ef = 109 109
20 80.1 Express AM22 2 A| O} 44 32 76
21 83.0 Insat 4A ol: 177 1 284 462
22 83.0 G-Sat 10 ol 12 362 378
23 85.0 Horizons 2 0| = 299 13 312
24 85.2 Intelsat 15 0| = 58 58
25 86.5 KazSat 2 FIRIS AEL 30 1 31
26 87.5 ChinaSat 12 == 15 5 0 20
27 88.0 ST 2 MItE 2/ 2t 23 520 543
28 90.0 Yamal 401 2{ A| O} 51 66 72 33 222
29 914 Measat 3A 2+3| 0| A| O} 79 15 35 129
30 915 Measat 3 2+24 0| A| O} 59 670 729
31 915 Measat 3B 224 0| A| O} 199 199
32 92.2 ChinaSat 9 = 122 122
33 935 G-Sat 15 ol: 312 40 352
34 935 G-Sat 17 ol: 83 6 0 89
35 95.0 NSS 6 SEME=Z3 304 3 307
36 95.0 SES 8 SEMdE=E3 100 100
37 96.5 Express AM33 2 A| O} 18 27 8 4 57
38 98.0 ChinaSat 11 = 82 1 83
39 100.5 AsiaSat 5 = 88 48 12 148
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40 105.5 AsiaSat 7 == 298 37 0 335
41 108.2 SES 7 SEME=Z3 168 441 609
42 108.2 SES 9 EME=Z3 288 288
43 110.0 N-Sat 110 A= 54 2 56
44 110.0 BSAT 3A s 36 36
45 110.0 BSAT 3C/JCSAT 110R = 18 18
46 110.5 ChinaSat 10 == 70 0 70
47 113.0 Koreasat 5 ot 17 23 40
48 113.0 Koreasat 5A ot 48 4 52
49 113.0 Palapa D Ol 14| A| O} 225 9 0 234
50 115.5 ChinaSat 6B == 137 110 0 247
51 116.0 Koreasat 6 St 284 4 288
52 116.0 Koreasat 7 St 5 5

53 118.0 Telkom 3S Ol = 4| A| O} 21 51 1 73
54 119.1 Bangabandhu 1 B2 2FH| A 1 2 7 10
55 119.5 Thaicom 4 Ef = 74 10 84
56 120.0 AsiaSat 6/Thaicom 7 =2 /Ef| = 15 0 15
57 122.0 AsiaSat 9 == 14 10 12 36
58 124.0 JCSAT 4B s 212 212
59 125.0 ChinaSat 6A == 82 59 61 202
60 128.0 JCSAT 3A U 183 183
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61 128.5 LaoSat 1 H| E 4 41 45
62 131.8 Vinasat 2 H| E Lt 30 8 38
63 132.0 JCSAT 5A s 1 1

64 132.0 Vinasat 1 HEY 17 270 20 307
65 134.0 Apstar 6C == 54 2 40 19 115
66 138.0 Telstar 18 o= 33 1 194 228
67 140.0 Express AM5 2 A| O} 20 14 191 8 233
68 140.0 Express AT2 2 A| O} 195 24 219
69 144.0 Superbird C2 Q= 150 150
70 150.5 BRIsat Ol I4|A|O} 2 0 2

71 152.0 Optus D2 k== 78 78
72 154.0 JCSAT 2B Q= 4 4

73 156.0 Optus D3 k=l 163 19 182
74 156.0 Optus 10 SF 337 337
75 159.0 ABS 6 = 7 1 8

76 160.0 Optus D1 SF 227 42 269
77 166.0 Intelsat 19 o|= 162 60 157 11 390
78 172.0 Eutelsat 172B mefA 12 2 14
79 180.0 Intelsat 18 o|= 10 24 131 21 186
80 183.0 NSS 9 EdE=3 26 4 30

= st A 168 3,661 763 10,144 604 | 15,340




